| 2 | 3 | 4 | 5 | 6 | 7 | 8

| 15

16

DRAWING NO

6SB-001

SECURITY CLASSIFICATION | THIRD ANGLE PROJECTION |[This document and any information or descriptive matter contained therin is communicated in

USED ON

NOTES:

co;vfid:nce agd (!§ H‘ve czpyr‘ighfdprope[fé of Go\dif?r Brewe;y‘fNeUher fze zho}e nor any hout REV DATE DESCRIPTIGN DRAWN APPROVED
extrac ma € Isclosed, oaned, copiled, or use or manutacturin or enderin urposes wi ou
@S 00 NoT SCALE [qhlrec) ey be By © 658 kS PER'LATEST DATE OF ISSUE. SKOWN BE Lo e I| 3110510 INITIAL 1SSUE I8 M
ITEM No QTY PART OR IDENTIFYING No MATER AL SPECIFICATION TITLE/ DESCRIPTION REMARKS
I I G§B-001-001 STAINLESS STEEL ROUND BAR [DRIVE ROLLER 2.0 INCH DIA
2 I G5B-001-002 STAINLESS STEEL ROUND BAR |IDLE ROLLER 2.0 INCH DIA
3 2 G§B-001-003 STAINLESS STEEL SHEET SIDE PLATE 0.050IN THICK
4 I GSB-001-004A AL ALLOY ROUND BAR ECCENTRIC CAM - LEFT HAND SIDE 2.0 INCH DIA
5 I G§B-001-0048 AL ALLOY ROUND BAR ECCENTRIC CAM - RIGHT HAND SIDE 2.0 INCH DIA
6 2 GSB-001-005 STAINLESS STEEL SHEET HOPPER MOUNT BRACKET 0.050IN THICK
1 2 GSB-001-006 STAINLESS STEEL SHEET HOPPER SIDE WALL 0.050IN THICK
8 2 6SB-001-007 STAINLESS STEEL SHEET HOPPER SHEET 0.050IN THICK
9 2 6SB-001-008 STAINLESS STEEL SHEET GRAIN DEFLECTOR 0.050IN THICK
10 | 6SB-001-009 PLY WOOD BASE BOARD I2MN THICK
I 10 150-7089-4 M4 PLAIN WASHER NORMAL SERIES. ZINC PLATED
( MANFACTURED HEADS 12 0 150-4762-M4X10-12-1 M4x0.7 SOCKET HEAD CAP SCREW, I10MM LONG
13 8 150-7089-5 M5 PLAIN WASHER NORMAL SERIES. ZINC PLATED
14 4 150-4762-M5X10-12-1 M5x0.8 SOCKET HEAD CAP SCREW, I1OMM LONG
15 4 150-4762-M5X25-12-1 M5x0.8 SOCKET HEAD CAP SCREW, 25MM LONG
17 4 61801 ‘BALL BEARING, (12mm 1D, 2Imm OD, 5mm TH)
18 36 SP8I-404 MONEL ‘KW[T 3.2 DIA, SOLID - MUSH HEAD
(MOUNTED INSIDE HOPPER
-] -]
£ j -]
MILL ASSEMBLY (SEE SHEET 2) D D
O s
I. INSTALL SP81-404 RIVETS DRY, WITH MANUFACTURED HEADS INSIDE.
2. ATTACH HOPPER TO MILL ASSEMBLY USING M4 AND M5 CAP SCREWS, TORQUE FINGER TIGHT.
3. ATTACH BASE BOARD TO MILL ASSEMBLY USING M5 CAP SCREWS, TORQUE FINGER TIGHT.
UNLESS OTHERWISE SPECITIED DIMENSIONS |DRAWN JAMES SPARKES GoldStar Brewery
ARE IN mn. GENERAL TOLERANCES ARE .
LINEAR 405 ANGULAR 4.0 5 |CHECKED  |ANDREW WELLINGS The Hill, New South Wales
WATER 1AL APPROVED ~ |ANDREW WELLINGS TITLE
CONTRACT NO
REFER BOM GRAIN MILL
CONTRACTOR
FINISH CONTRACTORS REF DCCM ORANING W0 SHEET
PROJECTCODE SIZE
RESTD SECURITY CLASSIFICATION G SB - O O ‘ AO
AS 1100.101 SCALEI: | SHEET | OF 4 MASS 9 574 kq

45 9 | 10 | | E

13

| | 4

| 15

16



JSparkes
Rectangle


\ | 2 | 3 | 4 | 5 | 6 | 7 | 8 1> 9 | 10 | | | 12 | 13 | 14 | 15 | B

DRAWING NO SECURITY CLASSIFICATION | THIRD ANGLE PROJECTION |This document and any information or descriptive matter contained therin is communicated in REV DATE DESCRIPTION DRAWN APPROVED
co;vf\d:nce agd (;§ H‘ve czpyr‘\ghfdprope[fé of Go\dif?r Brewe;y‘fNeUher fze zho}e nor any hout
— @.e. extract may be disclosed, loaned, copied, or used for manufacturing or tendering purposes withou
G SB O O ‘ DO NOT SCALE |00, TH er onsent . © 658 AS pER” LaTEsT DATE oF I'SSUE SHOWN 8 Low g pure I 131705710 INITIAL ISSUE JS AW
USED ON
NOTES:

. INSTALL DRIVE ROLLER BEARINGS INTO SIDE PLATES WITH LOCTITE 648

— APPLIED TO BEARING OUTER RACE.
[ o I Io [] 2. INSTALL IDLE ROLLER BEARINGS INTO ECCENTRIC CAMS WITH LOCTITE 648

APPLIED TO BEARING OUTER RACE.

3. INSTALL ECCENTRIC CAMS TO SIDE PLATES WITH A THIN FILM OF FOOD GRADE
LUBRICANT APPLIED TO ECCENTRIC. ALIGN ECCENTRIC CAMS AT 0 AND
INSTALL 4MM WASHER AND CAP SCREW. TORQUE FINGER TIGHT ONLY.

®\ 4. ALIGN DRIVE AND IDLE ROLLERS AND MOUNT SIDE PLATES AS SHOWN. DO
NOT APPLY LOCTITE TO BEARING INNER RACES.

5. HOLD ASSEMBLY TOGETHER WITH LARGE ELASTIC BANDS UNTIL FINAL ASSEMBLY.

§ // o il

& O,
©, \\\\CD o

SECTION C-C

C jc
SECTION A-A SECTION B-B
MILL ASSEMBLY
ITEM No oTY PART OR IDENTIFYING No MATERIAL SPECIFICATION TITLE/ DESCRIPTION REMARKS

| ! 656-001-001 STAINLESS STEEL ROUND BAR [DRIVE ROLLER 2.0 INCH DIA

2 ! 656-001-002 STAINLESS STEEL ROUND BAR [IDLE ROLLER 2.0 INCH DIA

3 2 656-001-003 STAINLESS STEEL SHEET SIDE PLATE 0.050IN THICK

4 | 656-001-004A AL ALLOY ROUND BAR ECCENTRIC CAM - LEFT HAND SIDE 2.0 INCH DIA

5 | 658-001-0048 AL ALLOY ROUND BAR ECCENTRIC CAM - RIGHT HAND SIDE 2.0 INCH DIA

i 6 150-7089-4 M4 PLAIN WASHER NORMAL SERIES. ZINC PLATED

12 6 150-4762-M4X10-12-1 M4xD.7 SOCKET HEAD CAP SCREW. IONM LONG

17 4 61801 BALL BEARING, (12mm 1D, 2Imm 0D, Smm TH)

UNLESS OTHERWISE SPECITIED DIMENSIONS |DRAWN JAMES SPARKES GoldStar Brewery
ARE [N mn. GENERAL TOLERANCES ARE

LINEAR 40 5 ANGULAR 4.0 5 |CHECKED  |ANDREW WELLINGS The Hill, New South Wales

MATER AL APPROVED ~ [ANDREW WELL INGS TITLE

CONTRACT NO
REFER BOM GRAIN MILL

CONTRACTOR

FINISH CONTRACTORS REF DCCM RN Mo SHEET
PROJECTCODE G SB OO ‘ SIZE

5RESTD SECURITY CLASSIFICATION O

AS 1100.101 SCALE SHEET 2 OF 4 | A

| 2 | 3 | 4 | 5 | 6 | 7 | 8 <0 9 | 10 | | E | 13 | 14 | 15 | B



JSparkes
Rectangle


\ | 2 3 | 4 | | 6 | 7 | 8 1> 9 | 10 | | | 12 | 13 | 14 | 15 | B
DRAWING NO SECURITY CLASSIFICATION | THIRD ANGLE PROJECTION |This document and any information or descriptive matter contained therin is communicated in REV DATE DESCRIPTION DRAWN APPROVED
co;vf\d:nce agd (;§ H‘ve czpyr\ghf prope[fé of Go\dif?r Brewe;y‘fNeUher fze zho}e nor any hout 21 058
— ma € Isclosed, , copled, or use or manutacturin or ender in urposes wi ou -0.05
G SB O O ‘ @ 00 w07 seaLE Theit wrilen consent. © 658 AS pER” LaTEsT DATE oF I'SSUE SHOWN 8 Low g pure | 31105710 INITIAL ISSUE JS AW
29
USED ON -
L — ==
PF@Q ctT% ' T‘ i) ﬂqﬁ#
210 18 ©
33.05 805
160 CENTERS PERM\SDSABLE BOTH ENDS ™~
o CHAMFER 0.5x45 BOTH ENDS 2
|10 =
25 ®50.4.5 o
. =
E
-2 106 REF
-y |\ _ o=
3 =3
‘ N 20 54.5 % 20 x4, DRILL AND TAP M5x0.8
ol I'5MM DEEP.
5 0.1 B 95+8.05 7‘
3@ 120 TIT T 3x45° TYP_4 PLACES
I ty 1y
APPLY KNURLED FINISH OVER MAJOR DIA L, Y W g o =
GSB-001-001 . 7N N
(DRIVING ROLLER) R l ) +—)©
NI~
I— ===z ﬂ:\ ==
f
170 il i)
o 21 DRILL AND TAP M4x0.7
45 5MM DEEP.
160
ENTERS PERMISSABLE BOTH ENDS 146
CHAMFER 0.5x45° BOTH ENDS
¢50.4,g‘ GSB-001-003
' (SIDE PLATE)
E777777777777 F 500
\ B11.9510:08 s Y
APPLY KNURLED FINISH OVER MAJOR DIA
180 140
GSB-001-002 106
(IDLE ROLLER) ' {
F@6 4 PLACES
" o /@/
APPLY KNURLED FINISH OVER MAJOR DIA r /
o) RS (TYP)
%IHHHH I
| i
B21.05 80 ol o
B33 fos = 3
5 HOLES, @4.5MM
ON 42MM PCD 15 SPACING 5 HOLES, @4.5MM AN L
ON 42MM PCD 15° SPACING & @&
o) GSB-001-009
21 . (BASE BOARD)
50.8
& J
GSB-001-004A GSB-001-004B
(LEFT SIDE ECCENTRIC) (RIGHT SIDE ECCENTRIC)
NOTE: GSB-001-004B IS IDENTICAL TO GSB-001-004A
EXCEPT FOR DIRECTION OF & 4 SHM DIA HOLES. UNLESS OTHERWISE SPECITIED DIMENSIONS |DRAWN JAMES SPARKES GoldStar Brewery
! ARE IN mm. GENERAL TOLERANCES ARE The Hill, New South Wales
LINEAR 40 5 ANGULAR £0 5°  |CHECKED  |ANDREW WELLINGS ’
MATERIAL APPROVED  |ANDREW WELLINGS TITLE
REFER BOM CONTRACT NO GRA ‘ N M ‘ LL
CONTRACTOR
FINISH CONTRACTORS REF DCCH DRANING 10 SHEET
PROJECTCODE SIZE
RG STD SECURITY CLASSIFICATION GSB’OO ‘ AO
AS 1100. 101 SCALE I: SHEET 3 OF 4 |
| 2 | 3 | 4 | | 6 | 7 | 8 <0 9 | 10 | | E | 13 | 14 | 15 | B



JSparkes
Rectangle


DRAWING NO SECURITY CLASSIFICATION | THIRD ANGLE PROJECTION |This document and any information or descripfive matter contained therin is communicated in REV DATE DESCRIPTION DRAWN APPROVED
co;vfid:nce agd (!§ H‘ve czpyr‘ighfdprope[fé of Go\dif?r Brewe;y‘fNeUher fze zho}e nor any hout
— @-a extract ma € Isclosed, oanea, copled, Or use or manutacturin or ender in urposes wi ou
G SB O O ‘ DO NOT SCALE |51, T0 M en consent. © 6SB AS PR LATEST DATE OF ISSUE SHOWN BELoW g e I 31105710 INITIAL ISSUE JS AW
USED ON
282
172
@3.2 x6 PLACES
MATCH DRILL WIH GSB-001-006
80 (REF)
o0
v &
&
S S #7777
§
LS o @3.2x18 PLACES -
3 & # %
30 v
8o by @5.5 x2 PLACES\ ‘
of
%k S % <& - —-— —©
R 45 ‘
> @4.5 x4 PLACES - ——————1
< n
25 & «\\\\ BEND DOWN 90 ~
¢ x\b 3(TYP) \\ e () |
3
33 2 o
o
3
©
T - - - - " "= > " = A
(,;o
'L“
5 5
GSB-001-006
GSB-001-005

(HOPPER SIDE WALL - FLAT PATTERN)

(HOPPER MOUNT BRACKET - FORMED)

@3.2 x16
MATCH DRILL WIH GSB-001-006

GSB-001-005

(HOPPER MOUNT BRACKET - FLAT PATTERN)

80 (REF)

100

\éw

250

GSB-001-007

|
,\\ y
~ 9 ﬁrw upP 7 64°
18

GSB-001-008

(GRAIN DEFLECTOR

- FORMED)
GSB-001-008

(GRAIN DEFLECTOR - FLAT PATTERN)

@3.2 x2 PLACES

60° (HOPPER SHEET)
(-] (-]
UNLESS OTHERWISE SPECIFIED DIVERSIONS  |oRamy JAMES SPARKES GoldStar Brewery
mm. .
LINEAR £0.5 ANGULAR 0 5 |CHECKED  [ANDREW WELLINGS The Hill, New South Wales
WATER 1AL APPROVED ~ |ANDREW WELLINGS TITLE
REFER BOM CONTRACT NO GRA ‘ N M ‘ LL
CONTRACTOR
F‘N‘SH DRAWING NO
e 001 05 e
(HOPPER SIDE WALL - FORMED) G S B _ O O
TRE ST SECURITY CLASSIFICATION AO
AS 1100.101 SCALE I: | SHEET 4 OF 4 |
| 2 | 3 | 4 | 5 | 6 | 7 | 8 9 | 10 | | E | 13 | 14 | 15 | B



JSparkes
Rectangle


